Answer on Question #69315 - Physics / Other

An alien life form on the planet Vulcan throws a 1.8 kg package at 12 m/s [vertically down]
toward some visiting human astronauts who are 55 m directly beneath him. If the planet
Vulcan has a mass of 5.78 x 1023 kg and a radius of 4.37 x 106 m, find

1. the acceleration of gravity on Vulcan.
2. the time it takes for the package to reach the unsuspecting astronauts.

3. the amount of force an astronaut would have to exert upwards to stop the package. Assume
that the package goes from its maximum speed to not moving over the course of 1.2 meters.
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